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EomEAED L 7 Y — b

= B V=H/6% (A1B1+ (A1+A2) * (B1+B2) +A2%B2)
SR &S bmERE TR T E L NI LGS Sy (U
H (m) Al (m) A2 (m) Bl (m) B2 (m) A () HE (%)
A- 1 1. 000 7.800 7. 300 3.100 3. 000 23.0
A - 2 1. 000 8. 300 7.800 3. 200 3.100 25. 4
A - 3 1. 000 8. 800 8. 300 4. 800 5. 550 44. 2
A - 4 1. 000 9. 300 8.800 4. 050 4.800 40.0
A - 5 1. 000 9. 800 9. 300 3. 300 4. 050 35. 1
A - 6 1. 000 10. 300 9. 800 2. 550 3. 300 29. 4
A - T 1. 000 11.820 11.520 1. 800 2. 550 25. 4
A - 8 1. 000 8.120 8. 320 1. 800 1. 800 14.8
A -9 0. 800 7. 960 8.120 1. 800 1. 800 11.6
A - 10 0. 800 7.800 7. 960 1. 800 1. 800 11.3

A7 a v 7 AE 260. 2
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B 1y B V=H/6% (A1%B1+ (A1+A2) * (B1+B2) +A2%B2)
SR &S bmERE TR T E L NI LGS Sy (U
H (m) Al (m) A2 (m) Bl (m) B2 (m) A () HE (%)
B - 1 1. 000 7.800 7. 300 3.100 3. 000 23.0
B - 2 1. 000 8. 300 7. 800 3. 200 3. 100 25. 4
B - 3 1. 000 8. 800 8. 300 4. 800 5. 550 44.2
B - 4 1. 000 9. 300 8. 800 4. 050 4. 800 40. 0
B - 5 1. 000 9. 800 9. 300 3. 300 4. 050 35. 1
B - 6 1. 000 10. 300 9. 800 2. 550 3. 300 29.4
B - 7 1. 000 10. 800 10. 300 1. 800 2. 550 22.9
B - 8 1. 000 7.300 7. 300 1. 800 1. 800 13.1
B - 9 0. 800 7. 300 7. 300 1. 800 1. 800 10.5
B - 10 0. 800 7.300 7. 300 1. 800 1. 800 10.5

B7m v AdEt 254. 1
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AT |y 62.6 + 79.1 + 5.2 + 24.7 m* 171.6
B7 w2 54.5 + 7.3 + 5.2 + - m’ 131.0
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SEoTREEE AHL (WP )

1A=/ A et 7)) B 0 A=1/2% (A1+A2) *Hkn £k 1 : 0.55 = 1. 141
SR SRS EEER  FHEER R e . Vb T
H (m) Al (m) A2 (m) n A (%) A () HE (m?)

A -1 - - - - - -
A -2 - - - - - -
A - 3 1.000 - - - - -
A - 4 1. 000 7.800 7.800 1. 141 8.90 8.9
A - 5 1. 000 8.300 8.300 1. 141 9.47 9.5
A - 6 1. 000 8.800 8. 800 1. 141 10. 04 10. 0
A - T 1. 000 11.820 11. 520 1. 141 13.32 13.3
A - 8 1. 000 8.120 8. 320 1. 000 8. 22 8.2
A - 9 0. 800 7.960 8.120 1. 000 6. 43 6.4
A - 10 0. 800 7.800 7.960 1. 000 6. 30 6.3

AT E s (EFE) A 62.6




SEoTREEE AHL (WP )

Bru vz (LFRa) B 0 A=1/2% (A1+A2) *Hkn £k 1 : 0.55 = 1. 141
SR SRS EEER  FHEER R e . Vb T
H (m) Al (m) A2 (m) n A (m?) A () A2
B - 1 - - - - - -
B - 2 - - - -
B - 3 1.000 - - - - -
B - 4 1. 000 7.800 7.800 1. 141 8.90 8.9
B - 5 1. 000 8.300 8.300 1. 141 9.47 9.5
B - 6 1. 000 8.800 8. 800 1. 141 10. 04 10. 0
B - 7 1. 000 9.300 9.300 1. 141 10. 61 10.6
B - 8 1. 000 5. 800 6. 300 1. 000 6. 05 6.1
B - 9 0. 800 6. 050 5. 800 1. 000 4.74 4.7
B - 10 0. 800 5. 650 6. 050 1. 000 4. 68 4.7

B7wm oy (LEWMAD) & 54.5




SEoTREEE AHL (WP )

A7 a7 (R B 0 A=1/2% (A1+A2) *Hkn £k 1 : 02 = 1. 020

S S FEERE | FHEER R e . Vb T

H (m) Al (m) A2 (m) n A (%) A () HE (m?)
A -1 1. 000 6. 500 6. 150 1. 020 6. 45 6.5
A -2 1. 000 6. 850 6. 500 1. 020 6. 81 6.8
A - 3 1. 000 7.300 7.300 1. 020 7.45 7.5
A - 4 1. 000 7.800 7.800 1. 020 7.96 8.0
A - 5 1. 000 8.300 8.300 1. 020 8.47 8.5
A - 6 1. 000 8.800 8. 800 1. 020 8.98 9.0
A - T 1. 000 11.820 11. 520 1. 020 11.90 11.9
A - 8 1. 000 8.120 8. 320 1. 000 8. 22 8.2
A - 9 0. 800 7.960 8.120 1. 000 6. 43 6.4
A - 10 0. 800 7.800 7.960 1. 000 6. 30 6.3

A7 vy 7 (TR &5 79. 1
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B v (FRiaD B A=1/2% (A1+A2) *Hkn FHt 1 : 0.2
SR S TR FTHEHER FHb T HEE A LGS Sy
H (m) Al (m) A2 (m) n A (m%) A (n®) %)
B - 1 1. 000 6. 500 6. 150 1. 020 6. 45 6.5
B - 2 1. 000 6. 850 6. 500 1. 020 6. 81 6.8
B - 3 1. 000 7.300 7.300 1. 020 7.45 7.5
B - 4 1. 000 7. 800 7. 800 1. 020 7.96 8.0
B - 5 1. 000 8. 300 8. 300 1. 020 8. 47 8.5
B - 6 1. 000 8. 800 8. 800 1. 020 8. 98 9.0
B - 7 1. 000 9. 300 9. 300 1. 020 9.49 9.5
B - 8 1. 000 5. 800 6. 300 1. 000 6. 05 6.1
B - 9 0. 800 6. 050 5. 800 1. 000 4.74 4.7
B - 10 0. 800 5. 650 6. 050 1. 000 4. 68 4.7

B7 w2z (R &5t
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A7 vy (ki@ L) B A=1/2% (A1+A2) *H#n B 1 : 0.5

SR SRS FEERE | FHEER R T . PEBR &

H (m) Al (m) A2 (m) n A () A ()
A - 8 1. 000 1. 800 1. 800 1.118 2.01
A - 9 0. 800 1. 800 1. 800 1.118 1.61
A - 10 0. 800 1. 800 1. 800 1.118 1.61

A7 w oy Ok LES) At
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B7 a7 (ki LEk) B A=1/2% (A1+A2) *H#n B 1 : 0.5

SR SRS FEERE | FHEER R T . PEBR &

H (m) Al (m) A2 (m) n A () A ()
B - 8 1. 000 1. 800 1. 800 1.118 2.01
B - 9 0. 800 1. 800 1. 800 1.118 1.61
B - 10 0. 800 1. 800 1. 800 1.118 1.61

B7 w2 (ki LES) At




SEoTREEE AHL (WP )

A7 a7 (B T B HiE) B A=1/2% (A1+A2) *Hskn A 1 0

SR SRS EEER  FHEER R T . PERE

H (m) Al (m) A2 (m) n A (m%) A (n®)
A - 1 1. 000 3.100 3. 000 1. 000 3.05 3.1
A - 2 1. 000 3. 200 3.100 1. 000 3.15 3.2
A - 3 1. 000 4. 800 5. 550 1. 000 5.18 5.2
A - 4 1. 000 4. 050 4. 800 1. 000 4.43 4.4
A - 5 1. 000 3. 300 4. 050 1. 000 3. 68 3.7
A - 6 1. 000 2. 550 3. 300 1. 000 2.93 2.9
A - T 1. 000 1. 800 2. 550 1. 000 2.18 2.2

A7 w7 (Ji T HHE) &5
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A= 4.4 + 64.8 + L1+ 18.4 m’ 125.7
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A7 vy 7 (R B 0 A=1/2% (A1+A2) *H

D>, S TR FTHEHER kG AR o PelR G AR

H (m) Al (m) A2 (m) A (o) N (o) HE (m?)

A -1 - - - - -

A -2 - - - - -

A - 3 1.000 - - - -

A - 4 1. 000 - - - -

A - 5 1.000 - - - -
A - 6 1. 000 8.800  8.800 8. 80 8.8
A - T 1. 000 11.820 = 11.520 11. 67 11.7
A - 8 1. 000 8.120  8.320 8. 22 8.2
A - 9 0. 800 7.960 @ 8.120 6. 43 6.4
A - 10 0. 800 7.800 @ 7.960 6. 30 6.3
A7 wm v At 41. 4
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B7u w7 (EFMED B A=1/2% (A1+A2) #H

D>, S TR FTHEHER kG AR o PelR G AR

H (m) AL (m) A2 (m) A () N (%) &t ()

B - 1 - - - - -

B - 2 - - - - -

B - 3 1. 000 - - - -

B - 4 1. 000 - - - -

B - 5 1. 000 - - - -
B - 6 1. 000 8.800  8.800 8. 80 8.8
B - 7 1. 000 9.300  9.300 9. 30 9.3
B - 8 1. 000 5.800  6.300 6.05 6.1
B - 9 0. 800 6.050  5.800 4.74 4.7
B - 10 0. 800 5.650  6.050 4. 68 4.7

B7wm oy (LEWMAD) & 33.6
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A7 w7 (R

B A=1/2% (A1+A2) *H

D>, SRS bmERE TR kG AR o LGS Sy PO iy

H (m) Al (m) A2 (m) A (m) A (n?) HE (m?)

A - 1 1. 000 - - - -

A -2 1. 000 - - -

A - 3 1. 000 7.300 | 7.300 7.30 7.3
A - 4 1. 000 7.800 = 7.800 7.80 7.8
A - 5 1. 000 8.300  8.300 8. 30 8.3
A - 6 1. 000 8.800 = 8.800 8.80 8.8
A -7 1. 000 11.820  11.520 11.67 11.7
A - 8 1. 000 8.120  8.320 8. 22 8.2
A - 9 0. 800 7.960 @ 8.120 6. 43 6.4
A - 10 0. 800 7.800 | 7.960 6. 30 6.3
A7 my 7 (R &F 64.8




CEPEHIERAIEE M OE i

B7u w7 (R B A=1/2% (A1+A2) #H

SR SRS EEER  FHEER P TY i P PERRE PIE TN

H (m) Al (m) A2 (m) A (o) AN (%) AFt (%)

B - 1 1. 000 - - - -

B - 2 1. 000 - - -

B - 3 1. 000 7.300 7.300 7.30 7.3
B - 4 1. 000 7.800 7.800 7.80 7.8
B - 5 1. 000 8.300 8.300 8. 30 8.3
B - 6 1. 000 8. 800 8. 800 8. 80 8.8
B - 7 1. 000 9.300 9.300 9. 30 9.3
B - 8 1. 000 5. 800 6. 300 6. 05 6.1
B - 9 0. 800 6. 050 5. 800 4.74 4.7
B - 10 0. 800 5. 650 6. 050 4. 68 4.7
B7 w7 At 57.0




CEPEHIERAIEE M OE i

A7 v w7 (KB LHED) B A=1/2% (A1+A2) *H
T E I8 % oo B %

SR LR FmiER kb G2 ) F P PEfR = b G2 ) F

Al (m) A2 (m) A (m%) A (n®) &3 (n®)

A — — — — —
A — — — — —
A - 10 F - - - -
A - 10 k 1.800 1. 800 1.08 1.
A7ma vy (KELE) A&t 1.




CEPEHIERAIEE M OE i

B7 w7 (il LHER) B A=1/2% (A1+A2) *H
T E I8 % oo B %

SR LR FmiER kb G2 ) F P PEfR = b G2 ) F

Al (m) A2 (m) A (m%) A (n®) &3 (n®)

B — — — — —
B — —_ —_ —_ —
B - 10 F - - - -
B - 10 k 1.800 1. 800 1.08 1.
B m vy (KiELE) AFF 1.




CEPEHIERAIEE M OE i

A7 vy 7 (fi T H HiE) B 0 A=1/2% (A1+A2) *H

D>, S TR FTHEHER kG AR o PelR G AR

H (m) Al (m) A2 (m) A (o) N (o) HE (m?)

A -1 1.000 - - - -

A -2 1. 000 - - - -
A - 3 1. 000 4.800 = 5.550 5.18 5.2
A - 4 1. 000 4.050  4.800 4. 43 4.4
A - 5 1. 000 3.300  4.050 3. 68 3.7
A - 6 1. 000 2.550  3.300 2.93 2.9
A - T 1. 000 1.800  2.550 2.18 2.2

A7 vy s (L BHE) &5 18.4




mooB B ik &t 1 = HANT N & Ft
IEAKHR 300%7
ABT7 1y 7 BEGEED m 7.30
' b Vg AR t=bem S RERE LY m’ 123. 00

123. 0%0. 05 ’ 6.2




faE L (GH2TE EaE)
ARl TS Givke2 it 1 = HAfTL NF S
ar s J—h 18-5-40 K7y 7 HEITIRELES R
A A
ATy 4.29 + 6. 85 m’ 11.1
B7w 6. 09 + 11.14 m’ 17.2
m’ 28.3




fjan 1. (5527 ELEE)

ARl B Gk &t Y 3 5
ar s J—h 18-5-40
A7 vy 7 T A-1 WL : 1/2%1. 000%2. 000 .00
W2 @ 1/2%1. 000%2. 000 .00
1/3%1. 00%1. 000+1/2% (1. 00+1. 00) *0. 800 1.13
A-2 WL : 1/2%0. 500%1. 000 .25
Wrimi2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25)*1. 000 0.79
A-3 WL : 1/2%0. 500%1. 000 .25
W2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25)*1. 000 0.79
A4 WL © 1/2%0. 500%1. 000 .25
Wrimi2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25)*1. 000 0.79
A-5 WL : 1/2%0. 500%1. 000 .25
Wrimi2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25)*1. 000 0.79

A7 |y 7 A




fjan 1. (5527 ELEE)

B

B

it 5

ary7y—hr

18-5-40

B7 vy 7 A

W1 : 1/2%1. 000%2. 000

.00

WIE2 : 1/2%1. 000%2. 000

.00

1/3%1. 00%1. 000+1/2% (1. 00+1. 00) *0. 800

.13

B-2

WriE1 : 1/2%0. 500%1. 000

.25

W2 : 1/2% (1. 000+0. 500) *1. 000

.75

1/3%0. 25%0. 500+1/2% (0. 25+0. 75) *1. 000

.54

B-3

Wrid1 : 1/2%0. 500%1. 000

.25

W2 : 1/2% (1. 000+0. 500) *1. 000

.75

1/3%0. 25%0. 500+1/2% (0. 25+0. 75) *1. 000

.54

B-4

WriE1 : 1/2%0. 500%1. 000

.25

W2 : 1/2% (1. 500+1. 000)*1. 000

.25

1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000

.79

B-5

WriE1 : 1/2%0. 500%1. 000

.25

W2 © 1/2% (1. 500+1. 000)*1. 000

.25

1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000

.79

B-6

Wrid1 : 1/2%0. 500%1. 000

.25

W2 : 1/2% (1. 500+1. 000)*1. 000

.25

1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000

.79

B-7

WriE1 : 1/2%0. 390%1. 300

.25

W2 © 1/2% (1. 390+1. 000) *1. 300

.55

1/3%0. 25%0. 650+1/2% (0. 25+1. 55) *1. 000

.95

B-8

WriE1 : 1/2%0. 390%1. 300

.25

W2 : 1/2% (0. 780+0. 390) *1. 300

.76

1/3%0. 25%0. 650+1/2% (0. 25+0. 76) *1. 000

. 56

B7 vy 7 T

o




fjan 1. (5527 ELEE)

ARl TS AL it ) 2V HAfTL N S
a7 Y—h 18-5-40

A7 wmy 7 Bl A-2 WrEil © 1/2%0. 850%1. 000 0.43 p°
Wr2 © 1/2%0. 850%1. 000 0.43 ’

1/3%0. 43%0. 500+1/2% (0. 43+0. 43) *8. 300 m’ 3. 64
A-3 Wrl © 1/2%0. 850%1. 000 0.43 ’
Wriii2 © 1/2% (1. 700+0. 850) *1. 000 1.28 p

1/3%0. 43%0. 500+1/2% (0. 43+1. 28) *1. 000 m’ 0.93
A-4 Wrl © 1/2%0. 850%1. 000 0.43 ’
Wriii2 © 1/2% (1. 700+0. 850) *1. 000 1.28 p°

1/3%0. 43%0. 500+1/2% (0. 43+1. 28) *1. 000 m’ 0.93
A-5 Wrl © 1/2%0. 850%1. 000 0.43 ’
Wriii2 @ 1/2% (2. 550+1. 700) *1. 000 2.13 n’

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000 m’ 1.35

A7 vy Bl AR o 6. 85




fjan 1. (5527 ELEE)

B

B

it 5

ary7y—hr

18-5-40

B7 vy 7 LA

Wrid1 : 1/2%0. 850%1. 000

.43

WriE2 : 1/2%0. 850%1. 000

.43

1/3%0. 43%0. 500+1/2% (0. 43+0. 43) *8. 300

.64

B-3

WriE1 : 1/2%0. 850%1. 000

.43

W2 : 1/2% (1. 700+0. 850) *1. 000

.28

1/3%0. 43%0. 500+1/2% (0. 43+1. 28) *1. 000

.93

B-4

WriE1 : 1/2%0. 850%1. 000

.43

W2 © 1/2% (2. 550+1. 700) *1. 000

.13

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000

.35

B-5

WriE1 : 1/2%0. 850%1. 000

.43

W2 © 1/2% (2. 550+1. 700) *1. 000

.13

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000

.35

B-6

Wrid1 : 1/2%0. 850%1. 000

.43

W2 : 1/2% (2. 550+1. 700) *1. 000

.13

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000

.35

B-7

WriE1 : 1/2%0. 390%1. 300

.25

W2 © 1/2% (2. 090+1. 700) *1. 300

.46

1/3%0. 25%0. 650+1/2% (0. 25+2. 46) *1. 000

.41

B-8

WriE1 : 1/2%0. 390%1. 300

.25

W2 © 1/2% (1. 630+1. 240) *1. 300

.87

1/3%0. 25%0. 650+1/2% (0. 25+1. 87) *1. 000

.11

B7 vy 7 LA

o




fEE L (GH2TE EAE)
ARl TS Givke2 it ) = HAfTL N S
LT e /NS R) &7 a7 HEITRELUBFES R
A A
ATy 6. 06 + 5.12 m’ 11.2
B7w 9.12 + 12. 00 m’ 21.1
m’ 32.3




fjan 1. (5527 ELEE)

il B R G B X HLAT NE & 2
LT e /NS R) 1:0.59 : &kt
A7 vy 7 T A-1 [ 1/2%1. 000%2. 000%1. 059 m’ 1.06
A-2  1/2%(1.500+1. 000)*1. 000 m’ 1.25
A-3  1/2%(1.500+1. 000)*1. 000 m’ 1.25
A-4  1/2%(1.500+1. 000)*1. 000 m’ 1.25
A-5 |1/2%(1.500+1. 000)*1. 000 m’ 1.25
A7 a7 Pl &F o 6. 06
1:0.59 : #lkt
B7 vy 7 TRl B-1  1/2%1.000%2. 000%1. 059 m’ 1.06
B-2 1/2%(1.500+1.000)*1. 000 m’ 1.25
B-3 |1/2%(1.000+0. 500)*1. 000 m’ 0.75
B-4 |1/2%(1.500+1.000)%*1. 000 m’ 1.25
B-5 |1/2%(1.500+1.000)%*1. 000 m’ 1.25
B-6 |1/2%(1.500+1.000)%*1. 000 m’ 1.25
B-7 1/2%(1.390+1. 000)%*1. 300 m’ 1.55
B-8 |1/2%(0. 780+0. 390) *1. 300 m’ 0.76
B7 w7 il &d n? 9.12




fjan 1. (5527 ELEE)

ARl TS k=2 i Y = HAfTL NF S
LT e /NS R)
A7 vy 7 Bl A-2 1/2%0. 850%1. 000 m’ 0. 43
A-3  1/2%(1.700+0. 850)*1. 000 m’ 1.28
A-4  1/2%(1.700+0. 850) *1. 000 m’ 1.28
A-5  1/2%(2.550+1.700)*1. 000 m’ 2.13
A7 a7 Pl &E 0 o 5.12

B v v LMl B-2

B-3 |1/2%(1.700+0. 850)*1. 000 m’ 1.28
B-4  1/2%(2.550+1.700)*1. 000 m’ 2.13
B-5 |1/2%(2.550+1. 700)*1. 000 m’ 2.13
B-6 |1/2%(2.550+1. 700)*1. 000 m’ 2.13
B-7 1/2%(2.090+1. 700)*1. 300 m’ 2. 46
B-8 |1/2%(1.630+1. 240)%*1. 300 m’ 1.87

B7 w7 Tl AEt n’ 12.00




% T

AR B ivkza &t L 2y HAfT N E & EF
Rk T
i) v T 3.7+0. 2 n? 3.9
R PARE ¢ 600 m 45.0
s P PR ¢ 300 m 45.0

=T —

T8 H=8. Om =
A —T v | EI=T V=Y

m 140

FI1EEEIF M

® 600

Rk TD S5 A=3. Tm2 {

N\t

RHEKE
®300

\ /

T 5% A=0.2m2




